Edge of paved shoulder

L 610 minimum 380 610 minimum
for post P Edge of
Block required
hould
M16 hex bolt w/ . shoulder
M16 recess nut & N
1 cut washer M16 button
(4 req'd. ea. post) L= head bolt w/
o M16 recess nut
o
| O
N 8y
W-beam o
]
=
-7

Ground line

4% slope e

16% slope or flatter to face }—. ol
of rail 218

o &

S | B

2|&

(=}

\— Post § «§

— -

TYPICAL W-BEAM INSTALLATION

GENERAL NOTES

1.  This sheet shall be used when W-beam guardrail is
This sheet shall also be used when a
W-beam guardrail system requires the use of
W-beam guardrail components.

specified.

2. The details on this sheet are for the assembly of W—beam
guardrail components.

M16 hex bolt w/

Edge of paved shoulder

610 minimum

M16 recess nut &
1 cut washer
(4 req'd. ea. post)

10% slope or flatter

Ground line

Edge of
— Block required
shoulder
Te)
[3V]
= M16 button
2 head bolt w/
S M16 recess nut
o
o
N <
W-beam
-
o
= |
[ 5
4% slope ol
to face o
of rail 8l o
al A
5|8
ol
\— Post Qg
| —

TYPICAL DOUBLE FACED W-BEAM INSTALLATION

All dimensions are in mm unless otherwise specified.

INDIANA DEPARTMENT OF TRANSPORTATION

W-BEAM

GUARDRAIL ASSEMBLIES
MAY 1998

STANDARD DRAWING No. 601-WBGA-01

s/ Anthony L. Uremovich 5-01-98
DESI GN STANDARDS ENG NEER DATE

Archived

/8/ Donald W. Lucas 5-01-98

| Source Sheet:

G_3 [DESI GN STANDARDS ENG

CHI EF H GHWAY ENG NEER DATE




	Archived: Archived


